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P(M)+ P(E)— P(M N E) =035+ 0.30—0.15 = 0.5.
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c) HMFEDMEN A THHEVNDIERZE M, REDHHEN A THOEWVWDIERZ E £TD. FRM,E
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M ={(4,4),(4,B),(4,C)}, P(M)=0.15+0.1540.05 = 0.35
E ={(4,4),(B,A),(C,4)}, P(E)=0.15+0.10 + 0.05 = 0.30

d MUE,MNE ZZNZTNHNENEECEKE. Ffce, PIMUE), P(IMNE) ZX$, PIMUE) =
P(M)+ P(E)— P(M N E) BRIZLTWD T EERD &
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P(M UE)=0.15+0.1540.05+ 0.1 + 0.05 = 0.50, P(M N E)=0.15

P(M) + P(E)— P(M N E) =035+ 0.30—0.15 = 0.5 205,
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DER) DEEIEDKRSICESHSNDD.

2 ={®.0,0 & Joker } HEETNUZRL.

CDEE, P((MY) = P({0)) = P({0}) = P(I#}) = 1>, P({Joker}) =
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CDEE, we 2 DD w # Jokery, Jokery 55, P({w}) = %
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